Caluclus AB

NAME:
MC Packet 3 - Derivatives and Tangent Lines PERIOD:
In-Class Together: Problems 1-6
0 An equation of the line tangent to the graph of f(x}=x(1- 2x)° at the point {1.—1) is
(A) y=-Tx+6 (B) y=-6x+35 (C) r=—2x+1
D) v=2x-3 (E) v=7x-8
@ The slope of the line nonnal to the giaph of v =2In{secx) at x =% is
(A) -2
|
(B} - 5
. 1
(C) 5
(D) 2
(E) nonexistent
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It f(x)=1n|x3—1|- then f'(x)=

(A)

(B) =

(©) =

)

(E)

It f(x)= . then f’[ % l =

X
tan x

(A) 2 (B}

o | -

If v =arctan(cosy). then ?= _

A
(A) —sin 1\
l+cos*x
1
(D)

{arccos ,r_)2 +1

(B) —{arcsec(cos ,\-)_}: sin v

(E)

!

l+cos™ ¥

(C) {arcsec(cos x.))z




In-Class: Problems 7-16

§
&) If f(x)=x}(x-2)* forally, then the domain of f” is

Tve

A {x]rz0} (B) {x|x>0} (©) {r]0sxs2]
(D) .:x|x¢0 and 1‘7&2} (E) 1\|\ 1s & real uumber}
. of T
® If £(x)=tan(2x). then f EJ:

A) 3 (B) 243 () 4 D) 43 (E) 8

@ —d—{arcsin 2x)=
dx

(A) ———— ®) - () ——
21-4x" 4x" -1 Wi-15%
) 2
(D) = (E)
1-4x° 4= -1

An equation of the line tangentto ¥ =x* +3x* +2 atits point of mflection is
{A) v=—6x-6 {(B) v=-3v+1i (CY ¥=2x+10

(D} v=3v-1 (E) y=4x+1
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If v= -, then Al =

4+ dx
(A) —*6-1— (B) i»-— (C) Lz o
(4+,\'2) (4-:-_‘\.':) (4—4-_\':) (.1-—_\"".)

-y -3
An equation of the line tangent 1o the graph of 1 = :'T : at the pomnt {1.5) is
A — .
(A.) 13,‘\‘_:}.’=8 (B) 13:“+}!=18 (C) -\‘_13:\':64
(D) x+13y=66 (E) —2x+3y=13
d 2.3
—c0s“(x") =
dv (')
(A)  6x*sin(x yeos(x)
(B) 6x"cos(x’)
() sin?(x?)
(D) —6x° sin{x* )cos(x*)
(B} ~2sin(x)cos(y’ ) _
If fix)=+2v.then f'(2)=
2 _
@ay L (®) < () V2 (D) | {E) V2
4 2 2
The slope of the line tangent 10 the graph of v = 111(.\‘2) at x=¢° is
I 2 1 4
Ay — B) — L oy = & —
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Homework: Problems 17-31

~ l L i . -
@ At what point on the grapli of v = Y is the tangent lme parallel to the line 2x -4y =37
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] (©) [1.——} (D) [1%] E (2.2)

OOIw—-

(a) ‘l

ld|r—;
{a | —

. - ax
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@ An equation for a tangent to the graph of v = arcsin% at the origin is
(A} x-2¥=0 (B) x—v=0 (C} x=0 D) y»=0 (E) mx-2v=0

@ 1 e=10"Y then o

dx

@A) (m10)o™ ® (200" © (x2-1jol

D) 2x(im10jtol E) < (m1o)0t

@ If f(x)=2+]x~-3] for all x. then the value of the derivative f'(x) at x=23 is

(A) -l (B) 0 < 1 (D) 2 (E} nonexistent
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An equation of the line tangent to the graph of 1 =cos(2x) at x= n 15

(A) y—lz—(.\'——]
(B) ;-»—1=~2[x--})
() }r':'E[ﬁ:—g-]

T
(D) '1::“[.‘\-—1]

(E} v =—_i .\'—%\J

Let fix)= Jx . If the rate of change of f at x = ¢ 1s twice its 1ate of change at x=1.then ¢ =

1 | i l
A — B Cc) 4 (D) — E
(A) 2 (B} 1 () ) Ny (E) 12
If f(x)=(x—1)"siny. then F(0)=
(A) -2 (B) -1 () 0 (D) | (E) 2
If f (.r):c?jm("‘!}. then f'(x)=
(A) oS B) M (o) sume™ (D) st (E) 6
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If f and g are twice differentiable and if

(A) 7 (g@)[g @] + (g(x)g"x)

(B) S (glx))g(x)+ " {g(x))g"(x)
©) f(gg @]

Dy f(glx))g"(x)

(E)  [f"(g(x))

Ix) = f{g(x)), then h'(x}=

-

What is the instantaneous rate of change at x =2 of the function f given by f(x)= xr o ?
) 1
(A) -2 (B) — (€) 3 Dy 2 (E) 6
1 i dr
If »=tanu, w=v—— and v=Iux, what is the value of - at y=e?
¥ AY
2 3
(A} 0 (B) - (<) 1 Dy = (E) sec*e
[} e
] ",
If y=¢". then ——=
d\'"
Ay "™ (B) nte™ (C) we™ Dy #"e" (E)  nte®
i(=-l--—£+ ¥ atx=—] is
d’.‘\‘x,\’j X . ] o .
{A) ~6 B) -4 ¢y ¢ (D) 2 (E) 6




